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1

write out all terms and compute the sums

2)38+ 51 + 66.= 155
b)38 + 51= 89

¢) 514 66 = 121

d)38 + 51 + 64 = 153

Z(i2 +2)

£ saxall Grual g 3 gaad) I8 Guis)
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2

Use summation rules to compute the

2)3362
b)2653

c) 2703

d) 1259

20
Z(i —3)(i+3)
i=4

£ saxall Clual £ ganall Aﬁ\ﬁeM” \
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3

Use summation rules to compute the

2)7380
b)7358

¢) 7308

d) 7385

70
;(3l —1)

£ saxall Clual £ ganall Aﬁ\ﬁeM” \
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4

Use summation rules to compute the £ saxall Clual £ ganall e ) g8 PREI

> 1 -3)

nn+1)(2n+1) N

a) ; 3n

b)n(n+1)6(2n+1) L 3n4+1

n(n+1)(2n+1) 4L 54 92n

¢)

n(n+1)(2n+1)

d)

+5+5n

https://t.me/+6tGzeBZag90xNzZk
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5
Use summation rules to compute the £ sanal) Glual £ ganall 3o g8 aadiu
n
> (i +5)
k=0
a)n(n+1)6(2n+1) Sy 4+ 1

b)n(n+1)6(2n+1) L 3n4+1

n(n+1)(2n+1) 4L 54 92n

¢)

n(n+1)(2n+1)

d)

+5+5n
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Compute the sum.

’;(kz—S)

n(n+1)(2n+1)

a) . —3n

b) n(n+1)6(2n+1) 341
o) n(n+1)6(2n+1) C3n_1
) n(n+1)6(2n+1) +3n 43
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Use the given values to estimate the area under the aladiuly dadlall cad dalaal) padil SUarall Adlall ad asdic
curve using left-endpoint evaluation. L5 ] Al Adads o b
X 0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8
a) 1.67
f(x) 2.0 2.4 2.6 2.7 2.6 2.4 2.0 1.4 0.6
b) 1.81
c) 18.1
d) 16.7

https://t.me/+6tGzeBZag90xNzZk
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Use the given values to estimate the area under the ARl siaiall ciat Aabuaal) il Blanal) ALJal) o ardiu
curve using left-endpoint evaluation. .5 ad) Aglgdl) Adali 2
2) 3.08 X 0.0 0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6
f(x) 2.0 2.2 1.6 1.4 1.6 2.0 2.2 2.4 2.0
b) 2.8
c) 225
d) 415

https://t.me/+6tGzeBZag90xNzZk
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9

Use the given values to estimate the area under the aladdinly  Aadall il daluall patil sUarall 3{\;&\ eﬁéﬁaﬁu‘
curve using left-endpoint evaluation. cs ) Algdl) Adadi a8
2) 1.182
X 1.0 1.1 1.2 1.3 1.4 1.5 1.6 1.7 1.8
e f(x) 1.8 1.4 1.1 0.7 1.2 1.4 1.8 2.4 2.6
¢) 2125
d) 1.525

https://t.me/+6tGzeBZag90xNzZk
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10

Use the given values to estimate the area under the alaiiuly aiall ciad daluall a8 Slarall Z\f‘ﬁ\ eﬁ“edﬁiﬁu"\
curve using left-endpoint evaluation. .5 ) Al adali a0
X 1.0 1.2 1.4 1.6 1.8 2.0 2.2 2.4 2.6
a) 1.6 f(x) 0.0 04 0.6 0.8 1.2 1.4 1.2 1.4 1.0
b) 1.4
c) 225
d) 1.5
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11

©

f(x) o) cua f: f(x)dx Jasil) dad 2 )

Compute f: f(x)dx such that

f0) = {24x :;5:211
a) 13
b) 12
c) 14
d) 15

https://t.me/+6tGzeBZag90xNzZk
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12

Compute f: f(x)dx such that

a) 15
b) 22

c) 20

d) 12

- |

2
3x

©

‘ 4 AN~. .
Fx) b [ () Jalsal) iad 2a

if x <2
ifx >2

https://t.me/+6tGzeBZag90xNzZk



https://t.me/+6tGzeBZag90xNzZk

12 ADV-T2-

©

7 4 7
if 1 jo f(x)dx =13 andf0 3f(x) = —15 then a;}\L 2f(x) =

a) 18

b) 19

c) 20

d) 28

https://t.me/+6tGzeBZag90xNzZk
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g

14
. . AX3 3 N
Assume that ff’f(x)dx = 3 and f13 g(x)dx = —2 find e gl TgX)dx=—2 3 [] f(x)dx = 3 O vk
3
| 1@+ geolds
a) -17 1
b) 5
c) 1
d) 8

https://t.me/+6tGzeBZag90xNzZk
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15

©

AN 3 e
Assume that ff’f(x)dx = 3 and f13 g(x)dx = —2 find e 2l [Tg()dx=-2 5 [ f(x)dx = 3 o) v2A

3
jl 2f(x) — g(x)]dx
a) -17
b) 5

c)-1

d) 8

https://t.me/+6tGzeBZag90xNzZk
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16

g

AN 3 e
Assume that ff’f(x)dx = 3 and f13 g(x)dx = —2 find e 2l [Tg()dx=-2 5 [ f(x)dx = 3 o) v2A

3
L [F(x) — g(x))dx
a) -17
b) 5

c)-1

d) 8

https://t.me/+6tGzeBZag90xNzZk
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@

AN 3 e
Assume that ff’f(x)dx = 3 and f13 g(x)dx = —2 find e 2l [Tg()dx=-2 5 [ f(x)dx = 3 o) v2A

3
jl [4g(x) — 3f(x)ldx
a) -17
b) 5

c)-1

d) 8

https://t.me/+6tGzeBZag90xNzZk
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¢

Write the expression as a single integral. 3 Ala JalSi 5 gua (B i)
2 3
j f(x)dx + f f(x)dx
0 2
2
Q) j f(x)dx
0

b) [ f(x)dx
o) [, F(x)dx

d) [, f(x)dx

https://t.me/+6tGzeBZag90xNzZk
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©

Write the expression as a single integral. 3 Ala JalSi 5 gua (B i)

| jo " f)dx - fz f)dx
a) jo f(x)dx

b) [ f(x)dx
o) [, F(x)dx

d) [, f(x)dx

https://t.me/+6tGzeBZag90xNzZk
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20

@

Write the expression as a single integral. 3 Ala JalSi 5 gua (B i)
2 1
j f(x)dx + f f(x)dx
0 2
2
Q) j f(x)dx
0

b) [, f(x)dx
0) f13 f(x)dx

d) [ f(x)dx

https://t.me/+6tGzeBZag90xNzZk
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@

21
Write the expression as a single integral. 3 Ala JalSi 5 gua (B i)
2 3
j f(x)dx + f f(x)dx
> -1 2
@ | foodx
-1
b) [, f(x)dx
o) 7, fx)dx
d) [ FO)dx

https://t.me/+6tGzeBZag90xNzZk
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Compute

a) 2
b) -2
c) 3

d) -3

2
f (2x — 3)dx
0

https://t.me/+6tGzeBZag90xNzZk
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Compute

a) 3
b) 6
c) 9

d) 12

f:(xz —2)dx

https://t.me/+6tGzeBZag90xNzZk
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24

Compute

a) =3+ 32
b) -3 —3v2
c) 3—32

d) 3+ 32

L
2

)

4

3cscx cotx dx

https://t.me/+6tGzeBZag90xNzZk
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Compute

a) =1
b) V2

c) 1

d)

N[

NE

sec’x dx

https://t.me/+6tGzeBZag90xNzZk
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26
Compute

a) 0

b) V2 -1

c) 1

-1

NE

secx tanx dx

https://t.me/+6tGzeBZag90xNzZk
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27

Compute the average value

f(x) =2x+ 1,on the interval [0, 4]

a) 20
b) 25

c) 5

d) 4

g

J ddac giall datdl) Cua
[0,4] = 55 F(x) = 2x + 1

https://t.me/+6tGzeBZag90xNzZk
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28

Compute the average value

f(x) = x* + 2x, on the interval [0, 1]

7
3)5

b) 7

d) 3

g

2 Ao gial) Al ol

[0,1] s 888 f(x) = x% + 2x

https://t.me/+6tGzeBZag90xNzZk
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29
Compute the average value

f(x) = x* —1,0on the interval [1, 3]

a) 2

b) 10

C)?

8
d)

g

=1 Ao gial) Aadll qawal

[1,3] 38 f(x) =x%—1

https://t.me/+6tGzeBZag90xNzZk
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30

Compute the average value

f(x) = 2x — x?, on the interval [0,1]

a)%
b) 5

c) 3

d) 1

g

= ddac gial) Aagdll ol

[0,1] s34 f(x) = 2x — x?
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31

g

2 dda gial) daddl) caaal

Compute the average value

f(x) = x* — 2x,on the interval [-1,1]

[—1,1] Jte s 88 f(x) = x% — 2x

3-2V3

3+2V3
b) x

d) 0

https://t.me/+6tGzeBZag90xNzZk
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32

Find a value of c that satisfies the conclusion of the Integral Mean Value Theorem Jalsil) b ddau gial) dall) il glad Al ¢ dad 23

2

flx) = f 3x%dx

0

a)cz%
b)c=——
d)c=%

https://t.me/+6tGzeBZag90xNzZk
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33

Find a value of c that satisfies the conclusion of the Integral Mean Value Theorem Jalsill 8 ddacs giall dadlll dail g8ad Al ¢ 4ad 22 gl

1

flx) = f (x? —2x)dx

-1

a)c=2.15
b)c=—-0.15

c)c =-0.15 ,2.15
d)c=0

https://t.me/+6tGzeBZag90xNzZk
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34

Compute the average value of the function on the given interval.

a)fave =5
5
D) fave = 3
7
C) [$¢o— 3
10
d)fave — 3

blarall 5341 & AdJall ddau gial) daddl) Cacial

f(x)=2x+1, 10,4 ]

https://t.me/+6tGzeBZag90xNzZk
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35

Compute the average value of the function on the given interval.

2) fave = 5
b) fave ==
Q) fave= 5
d) fave =5

blarall 5341 & AdJall ddau gial) daddl) Cacial
f(x) = x* + 2x, [0,1]

https://t.me/+6tGzeBZag90xNzZk
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36

Compute the average value of the function on the given interval.

a)fave =5
5
D) fave = 3
7
C) [$¢o— 3
10
d)fave — 3

blarall 5341 & AdJall ddau gial) daddl) Cacial

f(x)=x2—1,[1,3]

https://t.me/+6tGzeBZag90xNzZk
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Compute the average value of the function on the given interval.

2) fave = 5
B) fave =
O foe= -
d) fave = =

blarall 5341 & AdJall ddau gial) daddl) Cacial
f(x) = 2x — 2x?, [0,1]

https://t.me/+6tGzeBZag90xNzZk
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